TABULATION SHEET Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services Opening Date: 28-Oct-2013		VENDOR #1 D. McIntosh Enterprises LLC dba Eagle Transmission 4010 Lakeview Pkwy. Rowlett, Tx 75088 Devin McIntosh Tel: 972-412-0242		VENDOR #2 Duncanville Automotive dba Freedom Dodge Chrysler Jeep 815 E. Camp Wisdom Road Duncanville, TX 75116 Jerry Jackson Tel: 972-345-2350		VENDOR #3 A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611		VENDOR #4 ESS Auto Fleet Service 4020 Main Street Dallas, TX 75226 Malek Samadian Tel: 214-821-5052			
		Fax:		Fax:		Fax: 214-753-8615		Fax: 214-821-2054			
DESCRIPTION:	Est. Qty.										
NCTRCA Certified Vendor		No		No		Yes		No			
EEO1 Form returned with bid?		Yes		Yes		Yes		Yes			
Section 1: Turnkey Solution that includes the Removal of Existing Transmission and Installation of Contractor Furnished Rebuilt/Remanufactured/Overhaul Transmissions. Price to include all labor ,installation and removal cost, material, supplies (including shop supplies), fluids, filters, road testing, adjustments, diagnostic, inspections, transportation (pick-up and delivery), etc., as outlined in specification requirements											
 Ford – AF21-B Transmission with Torque Converter 	15 each	\$1,795.00	\$26,925.00	\$2,195.00	\$32,925.00	\$2,400.00	\$36,000.00	\$1,985.00	\$	29,775.00	'
Specify Credit/Deduction Amount if Torque Converter is not required:		\$125.00		\$100.00		\$249.00		\$120.00			
Specify Core Charge (if any):		\$0.00		\$200.00		\$350.00					
 Ford – AOD Transmission with Torque Converter 	10 each	\$650.00	\$6,500.00	\$1,495.00	\$14,950.00	\$595.00	\$5,950.00	\$645.00	\$	6,450.00	,
Specify Credit/Deduction Amount if Torque Convert is not required:		\$100.00		\$100.00		\$129.00		\$95.00			
Specify Core Charge (if any):		\$0.00		\$700.00		\$350.00					
3. Ford – AODE Transmission with Torque	100 each	\$1,050.00	\$105,000.00	\$1,495.00	\$149,500.00	\$695.00	\$69,500.00	\$1,340.00	\$	134,000.00)
Converter Specify Credit/Deduction Amount if Torque		\$100.00		\$100.00		\$149.00		\$95.00			
Converter is not required: Specify Core Charge (if any):		\$0.00		\$700.00		\$350.00					
4. Ford – AWF21 Transmission with Torque Converter	15 each	\$1,795.00	\$26,925.00	\$2,395.00	\$35,925.00	\$1,885.00	\$28,275.00	\$1,985.00	\$	29,775.00	'
Specify Credit/Deduction Amount if Torque Converter is not required:		\$100.00		\$100.00		\$329.00		\$95.00			
Specify Core Charge (if any):		\$0.00		\$700.00		\$350.00					
			1		1 I		I		1		

TABULATION SHEET Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services			VENDOR #1 D. McIntosh Enterprises LLC dba Eagle Transmission 4010 Lakeview Pkwy.		VENDOR #2 Duncanville Automotive dba Freedom Dodge Chrysler Jeep 815 E. Camp Wisdom Road		VENDOR #3 A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100		VENDOR #4 ESS Auto Fleet Service 4020 Main Street			
Opening Date: 28-Oct-2013			Rowlett, Tx 75088 Devin McIntosh Tel: 972-412-0242 Fax:		Duncanville, TX 75116 Jerry Jackson Tel: 972-345-2350 Fax:		Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615		Dallas, TX 75226 Malek Samadian Tel: 214-821-5052 Fax: 214-821-2054			
DESCRIPTION:	Est. Qty.											
5. Ford – AXOD Transmission with Torque Converter	2	each	\$795.00	\$1,590.00	\$1,895.00	\$3,790.00	\$1,295.00	\$2,590.00	\$990.00	\$	1,980.00	
Specify Credit/Deduction Amount if Torque Converter is not required:			\$100.00		\$100.00		\$249.00		\$95.00			
Specify Core Charge (if any):			\$0.00		\$700.00		\$350.00					
6. Ford – AXODE Transmission with Torque Converter	2	each	\$995.00	\$1,990.00	\$1,895.00	\$3,790.00	\$1,395.00	\$2,790.00	\$1,075.00	\$	2,150.00	
Specify Credit/Deduction Amount if Torque Converter is not required:			\$100.00		\$100.00		\$249.00		\$95.00			
Specify Core Charge (if any):			\$0.00		\$700.00		\$350.00					
7. Ford – AX4N Transmission with Torque Converter	10	each	\$1,195.00	\$11,950.00	\$2,179.00	\$21,790.00	\$1,495.00	\$14,950.00	\$1,340.00	\$	13,400.00	
Specify Credit/Deduction Amount if Torque Converter is not required:			\$100.00		\$100.00		\$249.00		\$95.00			
Specify Core Charge (if any):			\$0.00		\$700.00		\$350.00					
8. Ford – AX4S Transmission with Torque	2	each	\$995.00	\$1,990.00	\$1,895.00	\$3,790.00	\$1,495.00	\$2,990.00	\$1,085.00	\$	2,170.00	
Converter Specify Credit/Deduction Amount if Torque			\$100.00		\$100.00		\$249.00		\$95.00			
Converter is not required: Specify Core Charge (if any):			\$0.00		\$700.00		\$350.00					
9. Ford – AX45 Transmission with Torque Converter	2	each	\$1,295.00	\$2,590.00	\$1,895.00	\$3,790.00	\$1,495.00	\$2,990.00	\$1,485.00	\$	2,970.00	
Specify Credit/Deduction Amount if Torque Converter is not required:			\$100.00		\$100.00		\$249.00		\$95.00			
Specify Core Charge (if any):			\$0.00		\$700.00		\$350.00					
 Ford – A4LD Transmission with Torque Converter 	20	each	\$695.00	\$13,900.00	\$1,495.00	\$29,900.00	\$1,295.00	\$25,900.00	\$990.00	\$	19,800.00	
Specify Credit/Deduction Amount if Torque Converter is not required:			\$275.00		\$100.00		\$249.00		\$95.00			
Specify Core Charge (if any):			\$0.00		\$700.00		\$350.00					
11. Ford – C6 Transmission with Torque Converter	8	each	\$550.00	\$4,400.00	\$1,985.00	\$15,880.00	\$785.00	\$6,280.00	\$590.00	\$	4,720.00	
Specify Credit/Deduction Amount if Torque Converter is not required:			\$100.00		\$100.00		\$249.00		\$95.00			
Specify Core Charge (if any):			\$0.00		\$400.00		\$350.00					
12. Ford – CD4E Transmission with Torque	6	each	\$995.00	\$5,970.00	\$1,985.00	\$11,910.00	\$1,895.00	\$11,370.00	\$1,185.00	\$	7,110.00	
Converter Specify Credit/Deduction Amount if Torque Converter is not required:			\$120.00		\$100.00		\$349.00		\$110.00			
Specify Core Charge (if any):			\$0.00		\$400.00		\$485.00					
13. Ford – CVTPSE Transmission with Torque	e 4	each	\$2,495.00	\$9,980.00	\$2,599.00	\$10,396.00	\$0.00	\$0.00	\$3,985.00	\$	15,940.00	
Converter Specify Credit/Deduction Amount if Torque			\$180.00		\$100.00		\$0.00		\$175.00			
Converter is not required: Specify Core Charge (if any):			\$0.00		\$1,000.00		\$0.00					
										I		

TABULATION SHEET Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services Opening Date: 28-Oct-2013			VENDOR #1 D. McIntosh Enterprises LLC dba Eagle Transmission 4010 Lakeview Pkwy. Rowlett, Tx 75088 Devin McIntosh Tel: 972-412-0242 Fax:		VENDOR #2 Duncanville Automotive dba Freedom Dodge Chrysler Jeep 815 E. Camp Wisdom Road Duncanville, TX 75116 Jerry Jackson Tel: 972-345-2350 Fax:		VENDOR #3 A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615		VENDOR #4 ESS Auto Fleet Service 4020 Main Street Dallas, TX 75226 Malek Samadian Tel: 214-821-5052 Fax: 214-821-2054			
DESCRIPTION:	Est. Qty.											
14. Ford – E40D Transmission with Torque	10	each	\$995.00	\$9,950.00	\$1,875.00	\$18,750.00	\$1,495.00	\$14,950.00	\$1,085.00	\$	10,850.00	
Converter Specify Credit/Deduction Amount if Torque			\$120.00		\$100.00	,	\$249.00	, ,	\$115.00			
Converter is not required: Specify Core Charge (if any):			\$0.00		\$500.00		\$485.00					
	15	each	\$1,995.00	\$29,925.00	\$2,250.00	\$33,750.00	\$1,985.00	\$29,775.00	\$2,185.00	\$	32,775.00	
 Ford – FNR5 Transmission with Torque Converter Specify Credit/Deduction Amount if Torque 	15	each	\$1,995.00	\$29,923.00	\$2,250.00	\$55,750.00	\$329.00	\$29,775.00	\$140.00	э	52,775.00	
Converter is not required: Specify Core Charge (if any):			\$0.00		\$700.00		\$525.00		\$140.00			
 Ford – 4R55E Transmission with Torque Converter 	2	each	\$1,395.00	\$2,790.00	\$1,895.00	\$3,790.00	\$1,495.00	\$2,990.00	\$1,585.00	\$	3,170.00	
Specify Credit/Deduction Amount if Torque Converter is not required:			\$120.00		\$100.00		\$329.00		\$115.00			
Specify Core Charge (if any):			\$0.00		\$700.00		\$485.00					
17. Ford – 4R70E Transmission with Torque Converter	150	each	\$1,195.00	\$179,250.00	\$1,782.00	\$267,300.00	\$1,285.00	\$192,750.00	\$1,385.00	\$	207,750.00	
Specify Credit/Deduction Amount if Torque Converter is not required:			\$100.00		\$100.00		\$329.00		\$95.00			
Specify Core Charge (if any):			\$0.00		\$400.00		\$485.00					
18. Ford – 4R70W Transmission with Torque	10	each	\$1,395.00	\$13,950.00	\$1,985.00	\$19,850.00	\$1,585.00	\$15,850.00	\$1,385.00	\$	13,850.00	
Converter Specify Credit/Deduction Amount if Torque			\$100.00		\$100.00		\$329.00		\$95.00			
Converter is not required: Specify Core Charge (if any):			\$0.00		\$600.00		\$385.00					
19. Ford – 4R75E Transmission with Torque	25	each	\$1,395.00	\$34,875.00	\$2,095.00	\$52,375.00	\$1,485.00	\$37,125.00	\$1,385.00	\$	34,625.00	
Converter Specify Credit/Deduction Amount if Torque			\$100.00		\$100.00		\$329.00		\$95.00			
Converter is not required: Specify Core Charge (if any):			\$0.00		\$600.00		\$485.00					
20. Ford - 4R75W Transmission with Torque	100	each	\$1,200.00	\$120,000.00	\$1,995.00	\$199,500.00	\$1,385.00	\$138,500.00	\$1,340.00	\$	134,000.00	
Converter Specify Credit/Deduction Amount if Torque			\$100.00		\$100.00		\$329.00		\$95.00			
Converter is not required: Specify Core Charge (if any):			\$0.00		\$600.00		\$485.00					
 Ford – 4R100 Transmission with Torque 	50	each	\$1,595.00	\$79,750.00	\$2,320.00	\$116,000.00	\$1,575.00	\$78,750.00	\$1,685.00	\$	84,250.00	
Converter	50	cacii		φ <i>ι Σ</i> , ι 50.00		φ110,000.00		φ <i>10,13</i> 0.00		φ	04,200.00	
Specify Credit/Deduction Amount if Torque Converter is not required:			\$130.00		\$100.00		\$329.00		\$125.00			
Specify Core Charge (if any):			\$0.00		\$700.00		\$650.00					
22. Ford – 5R55E Transmission with Torque Converter	5	each	\$1,495.00	\$7,475.00	\$2,520.00	\$12,600.00	\$1,495.00	\$7,475.00	\$1,685.00	\$	8,425.00	
Specify Credit/Deduction Amount if Torque Converter is not required:			\$120.00		\$200.00		\$329.00		\$115.00			
Specify Core Charge (if any):			\$0.00		\$1,000.00		\$515.00					
		I		1 1		1 I		1 1		I		

TABULATION SHEET Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services Opening Date: 28-Oct-2013			VENDOR #1 D. McIntosh Enterprises LLC dba Eagle Transmission 4010 Lakeview Pkwy. Rowlett, Tx 75088 Devin McIntosh Tel: 972-412-0242 Fax:		VENDOR #2 Duncanville Automotive dba Freedom Dodge Chrysler Jeep 815 E. Camp Wisdom Road Duncanville, TX 75116 Jerry Jackson Tel: 972-345-2350 Fax:		VENDOR #3 A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615		VENDOR #4 ESS Auto Fleet Service 4020 Main Street Dallas, TX 75226 Malek Samadian Tel: 214-821-5052 Fax: 214-821-2054		
DESCRIPTION:	Est. Qty.										
23. Ford – 5R55N Transmission with Torque Converter	1	each	\$1,495.00	\$1,495.00	\$2,625.00	\$2,625.00	\$1,695.00	\$1,695.00	\$1,485.00	\$	1,485.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$120.00		\$100.00		\$329.00		\$115.00		
Specify Core Charge (if any):			\$0.00		\$500.00		\$515.00				
24. Ford – 5R55W Transmission with Torque Converter	2	each	\$1,495.00	\$2,990.00	\$3,295.00	\$6,590.00	\$1,495.00	\$2,990.00	\$1,685.00	\$	3,370.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$349.00		\$100.00		\$329.00		\$115.00		
Specify Core Charge (if any):			\$0.00		\$500.00		\$515.00				
25. Ford – 5R110W Torque Shift F250/F350 Transmission with Torque Converter	10	each	\$1,795.00	\$17,950.00	\$2,995.00	\$29,950.00	\$2,100.00	\$21,000.00	\$1,885.00	\$	18,850.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$180.00		\$100.00		\$329.00		\$175.00		
Specify Core Charge (if any):			\$0.00		\$500.00		\$785.00				
26. Ford - 6F35 Transmission with Torque Converter	10	each	\$1,595.00	\$15,950.00	\$2,795.00	\$27,950.00	\$2,085.00	\$20,850.00	\$1,995.00	\$	19,950.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$120.00		\$100.00		\$429.00		\$195.00		
Specify Core Charge (if any):					\$500.00		\$785.00				
27. Ford - 6F55 Transmission with Torque Converter	10	each	\$1,595.00	\$15,950.00	\$2,895.00	\$28,950.00	\$2,285.00	\$22,850.00	\$2,120.00	\$	21,200.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$120.00		\$100.00		\$429.00		\$200.00		
Specify Core Charge (if any):					\$600.00		\$785.00				
28. General Motors – 4L60E Transmission with Torque Converter	5	each	\$1,250.00	\$6,250.00	\$1,999.00	\$9,995.00	\$1,185.00	\$5,925.00	\$1,240.00	\$	6,200.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$100.00		\$100.00		\$249.00		\$95.00		
Specify Core Charge (if any):			\$0.00		\$700.00		\$485.00				
29. General Motors – 4L80E Transmission with Torque Converter	5	each	\$1,450.00	\$7,250.00	\$2,599.00	\$12,995.00	\$1,485.00	\$7,425.00	\$1,440.00	\$	7,200.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$120.00		\$100.00		\$329.00		\$115.00		
Specify Core Charge (if any):			\$0.00		\$700.00		\$650.00				
30. General Motors – 4T40E Transmission with Torque Converter	2	each	\$995.00	\$1,990.00	\$2,340.00	\$4,680.00	\$1,485.00	\$2,970.00	\$1,040.00	\$	2,080.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$100.00		\$100.00		\$329.00		\$95.00		
Specify Core Charge (if any):			\$0.00		\$700.00		\$585.00				
31. General Motors – 4T45 Transmission with Torque Converter	5	each	\$995.00	\$4,975.00	\$2,340.00	\$11,700.00	\$1,385.00	\$6,925.00	\$1,040.00	\$	5,200.00
Specify Credit/Deduction Amount if Torque Converter is not required:			\$100.00		\$100.00		\$329.00		\$95.00		
Specify Core Charge (if any):			\$0.00		\$700.00		\$585.00				
				I		1		1 1		1	

TABULATION SHEET Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services		VENDOR #1 D. McIntosh Enterprises LLC dba Eagle Transmission 4010 Lakeview Pkwy.		VENDOR #2 Duncanville Automotive dba Freedom Dodge Chrysler Jeep 815 E. Camp Wisdom Road		VENDOR #3 A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100		VENDOR #4 ESS Auto Fleet Service 4020 Main Street		
Opening Date: 28-Oct-2013		Rowlett, Tx 75088 Devin McIntosh Tel: 972-412-0242 Fax:		Duncanville, TX 75116 Jerry Jackson Tel: 972-345-2350 Fax:		Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615		Dallas, TX 75226 Malek Samadian Tel: 214-821-5052 Fax: 214-821-2054		
DESCRIPTION: Est. Oty.										
32. General Motors – 4T60E Transmission with 1 Torque Converter	each	\$995.00	\$995.00	\$2,499.00	\$2,499.00	\$1,195.00	\$1,195.00	\$1,040.00	\$	1,040.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$100.00		\$100.00		\$329.00		\$95.00		
Specify Core Charge (if any):		\$0.00		\$700.00		\$580.00				
33. General Motors – 4T65E Transmission with 1 Torque Converter	each	\$1,395.00	\$1,395.00	\$2,340.00	\$2,340.00	\$1,485.00	\$1,485.00	\$1,385.00	\$	1,385.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$100.00		\$100.00		\$329.00		\$95.00		
Specify Core Charge (if any):		\$0.00		\$700.00		\$585.00				
34. General Motors – 6T40 Transmission with 5 Torque Converter	each	\$1,750.00	\$8,750.00	\$2,459.00	\$12,295.00	\$1,685.00	\$8,425.00	\$1,740.00	\$	8,700.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$140.00		\$100.00		\$329.00		\$130.00		
Specify Core Charge (if any):				\$700.00		\$680.00				
35. General Motors – 440T4 Transmission with 1 Torque Converter	each	\$795.00	\$795.00	\$2,340.00	\$2,340.00	\$750.00	\$750.00	\$790.00	\$	790.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$100.00		\$100.00		\$329.00		\$95.00		
Specify Core Charge (if any):		\$0.00		\$700.00		\$480.00				
36. General Motors – 700R4 Transmission with 10 Torque Converter	each	\$625.00	\$6,250.00	\$2,599.00	\$25,990.00	\$735.00	\$7,350.00	\$620.00	\$	6,200.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$100.00		\$100.00		\$329.00		\$95.00		
Specify Core Charge (if any):		\$0.00		\$700.00		\$485.00				
37. General Motors – Allison 1000 Transmission 2 with Torque Converter	each	\$2,250.00	\$4,500.00	\$2,599.00	\$5,198.00	\$2,495.00	\$4,990.00	\$2,240.00	\$	4,480.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$150.00		\$200.00		\$589.00		\$145.00		
Specify Core Charge (if any):		\$0.00		\$1,000.00		\$685.00				
38. General Motors – A-34H/E Transmission 1 with Torque Converter	each	\$995.00	\$995.00	\$1,949.00	\$1,949.00	\$2,585.00	\$2,585.00	\$990.00	\$	990.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$110.00		\$100.00		\$419.00		\$105.00		
Specify Core Charge (if any):		\$0.00		\$700.00		\$785.00				
39. General Motors – 4165E Transmission with 1 Torque Converter	each	\$1,295.00	\$1,295.00	\$2,049.00	\$2,049.00	\$1,495.00	\$1,495.00	\$1,285.00	\$	1,285.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$110.00		\$100.00		\$329.00		\$105.00		
Specify Core Charge (if any):		\$0.00		\$700.00		\$785.00				
40. General Motors – 515OE Transmission with 1 Torque Converter	each	\$1,195.00	\$1,195.00	\$2,499.00	\$2,499.00	\$1,495.00	\$1,495.00	\$1,185.00	\$	1,185.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$100.00		\$200.00		\$349.00		\$120.00		
Specify Core Charge (if any):		\$0.00		\$700.00		\$785.00				
			ı I	Page	of 11	-	1 I		I	

TABULATION SHEET Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services Opening Date: 28-Oct-2013		VENDOR #1 D. McIntosh Enterprises LLC dba Eagle Transmission 4010 Lakeview Pkwy. Rowlett, Tx 75088 Devin McIntosh		VENDOR #2 Duncanville Automotive dba Freedom Dodge Chrysler Jeep 815 E. Camp Wisdom Road Duncanville, TX 75116 Jerry Jackson		VENDOR #3 A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri		VENDOR #4 ESS Auto Fleet Service 4020 Main Street Dallas, TX 75226 Malek Samadian		
		Tel: 972-412-0242 Fax:		Tel: 972-345-2350 Fax:		Tel: 214-753-8611 Fax: 214-753-8615		Tel: 214-821-5052 Fax: 214-821-2054		
	Est. Oty.									
41. General Motors - 6L80 transmission with 10 torque converter	0 each	\$1,650.00	\$16,500.00	\$2,549.00	\$25,490.00	\$1,880.00	\$18,800.00	\$1,640.00	\$	16,400.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$150.00		\$200.00		\$429.00		\$185.00		
Specify Core Charge (if any):				\$1,000.00		\$785.00				
42. Chrysler – A500 Transmission with Torque 1 Converter	each	\$1,095.00	\$1,095.00	\$1,870.00	\$1,870.00	\$1,285.00	\$1,285.00	\$1,290.00	\$	1,290.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$100.00		\$100.00		\$329.00		\$115.00		
Specify Core Charge (if any):		\$0.00		\$300.00		\$485.00				
43. Chrysler – A-518 Transmission with Torque 1 Converter	each	\$1,095.00	\$1,095.00	\$3,550.00	\$3,550.00	\$1,385.00	\$1,385.00	\$1,185.00	\$	1,185.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$100.00		\$100.00		\$329.00		\$95.00		
Specify Core Charge (if any):		\$0.00		\$600.00		\$585.00				
44. Chrysler – A604 Transmission with Torque 1 Converter	each	\$795.00	\$795.00	\$2,515.00	\$2,515.00	\$850.00	\$850.00	\$990.00	\$	990.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$100.00		\$100.00		\$329.00		\$95.00		
Specify Core Charge (if any):		\$0.00		\$800.00		\$495.00				
45. Chrysler – 5-45RF Transmission with Torque 1	each	\$1,595.00	\$1,595.00	\$2,880.00	\$2,880.00	\$1,395.00	\$1,395.00	\$1,740.00	\$	1,740.00
Converter Specify Credit/Deduction Amount if Torque		\$110.00		\$100.00		\$429.00		\$105.00		
Converter is not required: Specify Core Charge (if any):		\$0.00		\$650.00		\$785.00				
46. Chrysler – 42RLE Transmission with Torque 2 Converter	each	\$1,250.00	\$2,500.00	\$1,485.00	\$2,970.00	\$1,485.00	\$2,970.00	\$1,240.00	\$	2,480.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$110.00		\$100.00		\$329.00		\$105.00		
Specify Core Charge (if any):		\$0.00		\$500.00		\$585.00				
47. Chrysler – 44RE Transmission with Torque 1 Converter	each	\$1,695.00	\$1,695.00	\$2,200.00	\$2,200.00	\$1,485.00	\$1,485.00	\$1,740.00	\$	1,740.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$110.00		\$100.00		\$429.00		\$105.00		
Specify Core Charge (if any):		\$0.00		\$450.00		\$585.00				
48. Chrysler – 46RE Transmission with Torque 1 Converter	each	\$1,595.00	\$1,595.00	\$2,235.00	\$2,235.00	\$1,585.00	\$1,585.00	\$1,685.00	\$	1,685.00
Specify Credit/Deduction Amount if Torque		\$110.00		\$100.00		\$429.00		\$105.00		
Converter is not required: Specify Core Charge (if any):		\$0.00		\$650.00		\$585.00				
49. Chrysler – 48RE Transmission with Torque 2 Converter	each	\$1,695.00	\$3,390.00	\$3,840.00	\$7,680.00	\$1,585.00	\$3,170.00	\$1,695.00	\$	3,390.00
Specify Credit/Deduction Amount if Torque Converter is not required:		\$110.00		\$100.00		\$429.00		\$105.00		
Specify Core Charge (if any):		\$0.00		\$3,000.00		\$645.00				
	I		ļ		1 I		1 1		I	

TABULATION SHEET Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services	VENDOR #1 D. McIntosh Enterprises LLC dba Eagle Transmission 4010 Lakeview Pkwy.		VENDOR #2 Duncanville Automotive dba Freedom Dodge Chrysler Jeep 815 E. Camp Wisdom Road		VENDOR #3 A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100		VENDOR #4 ESS Auto Fleet Service 4020 Main Street		
Opening Date: 28-Oct-2013	Rowlett, Tx 75088 Devin McIntosh Tel: 972-412-0242 Fax:		Duncanville, TX 75116 Jerry Jackson Tel: 972-345-2350 Fax:		Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615		Dallas, TX 75226 Malek Samadian Tel: 214-821-5052 Fax: 214-821-2054		
DESCRIPTION: Est. Oty.									
50. Chrysler – 68RE Transmission with Torque 2 each Converter	\$1,695.00 \$3,	3,390.00	\$2,880.00	\$5,760.00	\$1,585.00	\$3,170.00	\$1,795.00	\$	3,590.00
Specify Credit/Deduction Amount if Torque Converter is not required:	\$110.00		\$100.00		\$429.00		\$105.00		
Specify Core Charge (if any):	\$0.00		\$1,500.00		\$685.00				
51. Chrysler – 68RFE Transmission with Torque 2 each Converter		3,390.00	\$3,325.00	\$6,650.00	\$1,685.00	\$3,370.00	\$1,740.00	\$	3,480.00
Specify Credit/Deduction Amount if Torque Converter is not required:	\$110.00		\$100.00		\$429.00		\$105.00		
Specify Core Charge (if any):	\$0.00		\$1,000.00		\$685.00				
52. Chrysler – 413 Transmission with Torque 1 each Converter Specify Credit/Deduction Amount if Torque	\$895.00 \$89	395.00	\$1,870.00 \$100.00	\$1,870.00	\$595.00 \$189.00	\$595.00	\$890.00	\$	890.00
Converter is not required: Specify Core Charge (if any):	\$0.00		\$400.00		\$385.00		4,5.00		
53. Chrysler – 618 Transmission with Torque 1 each	\$1,150.00 \$1,	1,150.00	\$2,255.00	\$2,255.00	\$1,385.00	\$1,385.00	\$1,140.00	\$	1,140.00
Converter Specify Credit/Deduction Amount if Torque	\$100.00		\$100.00		\$329.00		\$95.00		
Converter is not required: Specify Core Charge (if any):	\$0.00		\$400.00		\$485.00				
54. Chrysler – 670 Transmission with Torque 1 each	\$995.00 \$99	995.00	\$2,255.00	\$2,255.00	\$595.00	\$595.00	\$1,085.00	\$	1,085.00
Converter Specify Credit/Deduction Amount if Torque Converter is not required:	\$110.00		\$100.00		\$189.00		\$105.00		
Specify Core Charge (if any):	\$0.00		\$400.00		\$435.00				
55. Chrysler – 722-6 Mercedes Benz 10 each (Magnum/Charger) Transmission with Torque Converter	\$1,995.00 \$19	19,950.00	\$2,520.00	\$25,200.00	\$2,250.00	\$22,500.00	\$1,985.00	\$	19,850.00
Specify Credit/Deduction Amount if Torque Converter is not required:	\$150.00		\$100.00		\$429.00		\$140.00		
Specify Core Charge (if any):	\$0.00		\$1,000.00		\$785.00				
56. Chrysler – 722-9 (Charger) Transmission 10 each with Torque Converter	\$1,995.00 \$19	19,950.00	\$2,520.00	\$25,200.00	\$2,500.00	\$25,000.00	\$2,085.00	\$	20,850.00
Specify Credit/Deduction Amount if Torque Converter is not required:	\$150.00		\$100.00		\$429.00		\$140.00		
Specify Core Charge (if any):	\$0.00		\$1,000.00		\$1,895.00				
57. Chrysler - 727 Transmission with Torque 5 each Converter		2,975.00	\$1,905.00	\$9,525.00	\$325.00	\$1,625.00	\$690.00	\$	3,450.00
Specify Credit/Deduction Amount if Torque Converter is not required: Specify Core Charge (if any):	\$100.00		\$100.00 \$400.00		\$149.00 \$385.00		\$95.00		
		075.00		¢0.535.00		e1 (25.00	\$c00.00	¢	2 450 00
58. Chrysler – 904 Transmission with Torque 5 each Converter Specify Credit/Deduction Amount if Torque	\$595.00 \$2, \$100.00	2,975.00	\$1,905.00 \$100.00	\$9,525.00	\$325.00 \$149.00	\$1,625.00	\$690.00 \$95.00	\$	3,450.00
Converte is not required: Specify Core Charge (if any):	\$0.00		\$400.00		\$385.00				

TABULATION SHEET Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services Opening Date: 28-Oct-2013	VENDOR #1 D. McIntosh Enterprises LLC dba Eagle Transmission 4010 Lakeview Pkwy. Rowlett, Tx 75088 Devin McIntosh Tel: 972-412-0242 Fax:		VENDOR #2 Duncanville Automotive dba Freedom Dodge Chrysler Jeep 815 E. Camp Wisdom Road Duncanville, TX 75116 Jerry Jackson Tel: 972-345-2350 Fax:		VENDOR #3 A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615		VENDOR #4 ESS Auto Fleet Service 4020 Main Street Dallas, TX 75226 Malek Samadian Tel: 214-821-5052 Fax: 214-821-2054			
DESCRIPTION: Est. Qty.										
Section 2: Miscellaneous and Repair Services - To be performed as needed/as requested by Dallas County										
59. Diagnostic Check to include to but limited to 150 each computer and electronic diagnosis, fluid inspection, lift and pan inspection, road test and all labor, equipments, and material/parts associated with diagnostic check	\$0.00	\$0.00	\$65.00	\$9,750.00	\$0.00	\$0.00	\$62.50	\$ 9	9,375.00	
60. Labor Rate for Transmission and Gears 100 hour Repair/Replacement and Maintenance Services including transfer cases, clutches, drive shaft, differential, and other types of related services not specified under this contract	\$45.00	\$4,500.00	\$65.00	\$6,500.00	\$50.00	\$5,000.00	\$62.50	\$ 6	5,250.00	
61. Replacement Parts, Supplies and Materials – Markup –Only applicable to parts, supplies and materials not included as part of the Rebuilt/Remanufactured/Overhaul Transmissions specification requirements										
Contractor Cost Plus + % 5,000 Note: A copy of the Contractor's invoice(s) from his/her supplier for such parts, supplies and materials shall be submitted with the Contractor's invoice for payment. Failure to provide the required documentations will result in non-payment and/or delay payment. All freight/transportation charges (when applicable) associated with this category will be treated as pass thru cost with no mark-up.	0.00%	\$5,000.00	5.00%	\$5,250.00	10.00%	\$5,500.00	10.00%	\$ 5	5,500.00	
62. Minimum Service Charge for any Repair, Replacement, and Maintenance Service Request: Note: Dallas County will pay the minimum service charge fee or unit price for each service request whichever is greater (but not both)	\$45.00		\$65.00		\$35.00		\$8.00			
Total		\$894,075.00		\$ 1,415,975.00		\$953,440.00		\$ 1,021	1,335.00	

TABULATION SHEET Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services Opening Date: 28-Oct-2013	VENDOR #1 D. McIntosh Enterprises LLC dba Eagle Transmission 4010 Lakeview Pkwy. Rowlett, Tx 75088 Devin McIntosh Tel: 972-412-0242 Fax:	VENDOR #2 Duncanville Automotive dba Freedom Dodge Chrysler Jeep 815 E. Camp Wisdom Road Duncanville, TX 75116 Jerry Jackson Tel: 972-345-2350 Fax:	VENDOR #3 A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615	VENDOR #4 ESS Auto Fleet Service 4020 Main Street Dallas, TX 75226 Malek Samadian Tel: 214-821-5052 Fax: 214-821-2054
	Est. Oty.	N/A	Modules (transmission control and power control) and sensors additional	N/A
Should your firm be awarded this contract, describe what (if any) portion of the bid requirements will be subcontracted out:	All repairs are done in house	None	None - All work done in house	No Response
Turnaround Time: The ability to quickly pickup, repair and return a vehicle is critical to the success of this contract. Please indicate your typical "turnaround" time for a transmission repair. From time of contact to redelivery of the vehicle, our company/firm will complete typical repairs in (if different from the time requested in bid requirements):/days	3 days	2-3 days	3 days	N/A
Specify Prompt/Early Payment Discount Terms (if any):	5%-12 days	0%	2%-10 days	N/A
Please answer the questions listed below				
Is the required reference information included with your bid proposal? Yes No	Yes		Yes	Yes
Did your company check Dallas County website (http://www.dallascounty.org/department/purcha sing/currentbids.html) for any addendums, updates, and/or changes to the bid solicitation?	Yes	Yes	Yes	Yes
Specify the name, telephone number and email address of the account representative who will be handling and managing this account: Note: It is the responsibility of the awarded bidder to notify Dallas County of any account representative and/or contact person changes.	William Saddler 972- 412-0242 bcsaddler@gmail.com	Jerry Jackson 972-345-2350 jj@save@freedom.com	Kanwar Suri 972- 241-8833/214-753-8611 kdssuri@gmail.com	Malek Samadian 214-821-5052 essmalek@sbcglobal.net

TABULATION SHEET Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services Opening Date: 28-Oct-2013	VENDOR #1 D. McIntosh Enterprises LLC dba Eagle Transmission 4010 Lakeview Pkwy. Rowlett, Tx 75088 Devin McIntosh Tel: 972-412-0242 Fax:	VENDOR #2 Duncanville Automotive dba Freedom Dodge Chrysler Jeep 815 E. Camp Wisdom Road Duncanville, TX 75116 Jerry Jackson Tel: 972-345-2350 Fax:	VENDOR #3 A.S.M. Pro Inc. dba T&K Automotive Specialists 1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615	VENDOR #4 ESS Auto Fleet Service 4020 Main Street Dallas, TX 75226 Malek Samadian Tel: 214-821-5052 Fax: 214-821-2054
DESCRIPTION: Est. Oty. Specify the alternate name, telephone number and email address of the account representative who will be handling and managing this account: Note: It is the responsibility of the awarded bidder to notify Dallas County of any account representative and/or contact person changes.	Devin McIntosh 817- 487-0889 devinfox@aol.com	Brian Condley 903-641-7273 bcondley@lovejeep.net	Andrew Lawson 972- 241-8833/214-753-8611 tandk.irving@gmail.com	Katina McMillian 214-234-1142 ess.kmcmillian@yahoo.com
Please list all of business repair facility locations below (address and telephone number) that will be servicing Dallas County account:	Eagle Transmission Rowlett 4010 Lakeview Pkwy., Rowlett Tx, 75088 972.412.0242	Freedom Dodge, 815 Camp Wisdom Road, Duncanville, TX 75116 Freedom Chevy 8008 Marvin D Love Frwy, Dallas, TX 75237	T&K Automotive Specialists 1100 W. LBJ Fwy, Irving, TX T&K Automotive Specialists 15200 Marsh Ln, Addison, TX	ESS Auto Fleet Services 4020 Main Street Dallas, TX 75226
Does your firm/company have the required insurance coverage stated under SECTION 3 - INSURANCE REQUIREMENTS and agree to comply with these requirements during the duration of this contract? If No, will your firm be able to acquire the required coverage within ten (10) days upon notification of contract award?	Yes	Yes	Yes	Yes
Are you a Minority/Woman-Owned business enterprise certified by the North Central Texas Regional Certification Agency (NCTRCA)?	No	No	Yes	No
Cooperative Purchasing: Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agree that all terms, conditions, specifications, and pricing would apply to that entity?	Yes	Yes	Yes	Yes
Information on Provision of Health Insurance Coverage for Employees Dallas County may consider the provision of health insurance coverage for employees in the bid evaluation process (see page 4, paragraph 5). Please complete the information below to assist in this evaluation.				Yes
a) Does your company provide health insurance coverage to its employees?	No	Yes	Yes	

TABULATION SHEET Bid No. 2014-011-6392 Annual Contract for Automotive Transmission Repair, Replacement and Other Related Services	VENDOR #1 D. McIntosh Enterprises LLC dba Eagle Transmission	VENDOR #2 Duncanville Automotive dba Freedom Dodge Chrysler Jeep	VENDOR #3 A.S.M. Pro Inc. dba T&K Automotive Specialists	VENDOR #4 ESS Auto Fleet Service 4020 Main Street
Opening Date: 28-Oct-2013	4010 Lakeview Pkwy. Rowlett, Tx 75088 Devin McIntosh Tel: 972-412-0242 Fax:	815 E. Camp Wisdom Road Duncanville, TX 75116 Jerry Jackson Tel: 972-345-2350 Fax:	1100 W. LBJ Frwy, Suite 100 Irving, Tx 75063 Tanvir Suri Tel: 214-753-8611 Fax: 214-753-8615	4020 Main Street Dallas, TX 75226 Malek Samadian Tel: 214-821-5052 Fax: 214-821-2054
DESCRIPTION: Est. Qty.				
b) If your company does provide health insurance coverage to its employees, does the company share in the cost a minimum of: 90% for employee only coverage Yes No 65% for family coverage Yes No		Yes	Yes (90% coverage) No (65% family coverage)	Yes
c) If your company provides health insurance coverage to its employees, is the coverage comparable to the services provided by Dallas County as described in the attached summary plan description? (See Attachment - A)		Yes	No	Yes
d) If your company plans to utilize subcontractors in the fulfillment of this bid, does each of the subcontractors provide health insurance coverage to their employees that compares to Dallas County's health insurance coverage and share in the cost?		N/A	N/A No subcontractors	Yes
Please indicate whether the principal owner is: Dallas County Tax Payer Other County Tax Payer	Tarrant	x	x	x
Please indicate the manner in which you were notified: Daily Commercial Record Dallas County Website Letter from Dallas County Purchasing Other	x		x	x